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Part1 Reading Comprehension (60 s

Read the article below and answer the questions that follow.

H X FAE 2 bATENSA Lxob=<
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Source:

Thomson Reuters Foundation. (2019, April 10). Green machines? Flying taxis could slash emissions
for long journeys. The Japan Times. Retrieved from
https://www.japantimes.co.jp/news/2019/04/10/business/green-machines-study-says-flying-taxis-

slash-emissions-long-journeys


https://www.japantimes.co.jp/news/2019/04/10/business/green-machines-study-says-flying-taxis-slash-emissions-long-journeys/#.XLfw-uszbUJ
https://www.japantimes.co.jp/news/2019/04/10/business/green-machines-study-says-flying-taxis-slash-emissions-long-journeys/#.XLfw-uszbUJ
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Th
Which one of the following is discussed about VTOLSs in the article? (105%)

(A) pilot training

(B) greenhouse gas emissions
(C) transport regulations

(D) noise emissions

(E) air safety

According to the article, why are VTOLSs more energy efficient than cars for longer trips?
Th
(104%)

(A) VTOLSs can carry more passengers.

(B) VTOLs have a higher maximum speed.

(C) VTOLs can land in small spaces.

(D) VTOLSs are cheaper to operate and maintain.
(E) VTOLs use less energy at cruising speeds.

According to the article, in which of the following situations can flying taxis be more

TAh
environmentally friendly than gasoline-powered cars for longer trips? (10:%)

(A) when flying taxis carry less cargo

(B) when flying taxis travel slowly

(C) when flying taxis are fully occupied
(D) when flying taxis cruise at low altitudes
(E) when flying taxis operate in cities



(4)

)

(6)

According to the article, when do VTOLSs need a lot of energy?

TA

(104)

(A) while ascending

(B) while taxiing on runways
(C) while cruising

(D) while landing

(E) while descending

According to the article, which one of the following is true about VTOLSs?

TA

(104)

(A) They are being used at the University of Michigan to transport academics.

(B) They are being used to reduce emissions between Detroit and Cleveland.
(C) They are being used as a means of sustainable mass transport in London.
(D) They cannot land in small spaces within crowded urban centers.

(E) They are not currently being used to transport passengers.

What did Jemilah Magnusson say about long-distance car travel?

Th

(1045)

(A) New policies are not needed.

(B) Electric cars should be incentivized.

(C) VTOLSs can make travel more efficient and easier.
(D) People should be encouraged to travel with others.
(E) Sustainable mass transport is an appealing fantasy.




Th
Part2 Writing (4045)

Answer the question below.

In your opinion, what are some advantages and disadvantages of cars compared with public transport?
Write about 120 words in English.
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